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MANAGEMENT (PAPER-I)

|Time Allowed : Three Hours I rMaximum Marks : 250 |

QUESTION PAPER SPECIFIC INSTRUCTIONS
(Please read each of the following instructions carefully before attempting questions)

There are EIGHT questions divided in two Sections and printed both in HINDI and
in ENGLISH.

Candidate has to attempt FIVE questions in all.

Question Nos. 1 and 5 are compulsory and out of the remaining, THREE are to be
attempted choosing at least ONE question from each Section.

The number of marks carried by a question/part is indicated against it.

Answers must be written in the medium authorized in the Admission Certificate which
must be stated clearly on the cover of this Question-cum-Answer (QCA) Booklet in the
space provided. No marks will be given for answers written in a medium other than the
authorized one.

Word limit in questions, wherever specified, should be adhered to.

Assume suitable data, if considered necessary, and indicate the same clearly.
Attempts of questions shall be counted in sequential order. Unless struck off, attempt of a

question shall be counted even if attempted partly. Any page or portion of the page left
blank in the Question-cum-Answer Booklet must be clearly struck off.
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@Us—A / SECTION—A

1. Frafafed # |y &1 a@mm 150 W=kt § I AR
Answer the following in about 150 words each : 10x5=50

(@) ‘79 GOR H FAd OF € ° @ R, 98 & aRadd) 8 awen W fevfi fifse ) ot |
T FUhHI 1S 8 AU Hewqol 1 e—Fide s1ga qiEda?
“There is only one thing permanent in this world, i.e., change.” Comment on

this statement. In your opinion, what is more important for a government
organization—stability or change?

(b) W AfmfEt & sttty fareht siftem aon fasm fgfe % St =1 @@ w0 # sEwa B
% fafim ggma difs ot feeft witveor 3 ffraim = yem 3 gur e st e

Most of the government officers fail to serve the purpose of overseas learning
and development assignments. Suggest different interventions which can
improve the return on investment on overseas training.

(¢) (i) N |t THER F TEE R E? T IN F THETd §9 A T AR
(i) A F FAET FA A A L FA ) R R faaEa i)
(i) Whether all types of stress are bad? Justify your answer. S

(ii) Discuss the role of Yoga and Meditation in managing stress. 5

(d) i wmed, s, e TE e R F afofe aeerfia @ stga 3 @ fRkwand &,
< foreft oft srareff 3§ waifirs wift S €1 welf qen wm B 37 aAE F A AR S F A
forstwanatt, eganfear qun sigraa, St ¥y AR ST &)

Apart from physical ability, language, intelligence and emotional stability,
honesty and integrity are the two most sought after characteristics required in
any candidate. Describe the techniques followed in Recruitment and Selection
to check these two characteristics of honesty and integrity.

(e) ‘‘wa A TR I a6t aen dgifosw it R\ FN oM 39 IFA | wEHA &7
e 39 1 3E e A Frefa fifvm

“In India, social responsibility is more in theory than in practice.” Do you agree
with this statement? Support your answer with suitable examples.

2. (@) WHE GEEA (THo AWo) YausHl H 7 1 3! an q1% A 3= & A JFW 2| AHE
FEIH 1 Tafd (T Ao 3o THo) THHI Th IATEWT §| T&Y § o Mo 3o THo H
o= Fifie | are daneR e Afem TR T o R T (WsgeE) B e A @,
T TSA | HHE HEYA] hl arediaeh qeil JeH & ¥eh?

New generation Human Resource (HR) managers are well-versed with numbers
and technology. Human Resource Information System (HRIS) is one example of
it. Briefly discuss HRIS. What attributes will you consider while framing an HR
dashboard metrics, which can give a realistic picture of Human Resources in
an organization? 15
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(b)

(c)

(d)

3. (a)

(b)

(c

(@)

T A F1 YEY § GrEE R TR YR * Anie veu fugrd @ Rm 27 0 39 2w
siqurfed @ yey frgra o oft @ AR € wd sy wed R e §7 s I
wiga fag Hifsm)

In what respect is Henri Fayol’s contribution to management different from
that of Taylor’s Scientific Management theory? Do the general management
principles given by Fayol still hold good and are they relevant to the modern
organizations? Justify your answer.

AP TS 1 Y TH A Ta AN SIS TP 2g IEEH A ol SRET TEGd
Hifsy | Ten-sre wREif 3 faeam @ % o wreT $i 98 $ v wa 37
What is a learning organization? Outline the prerequisites for a creative and

innovative organizational culture. How does it help the organization to survive
in cut-throat competition?

TF T wHA % Freared # qeaied ¥ wea 87 360-faft fearea g fafy
Toraremn ifer | e wfskn i aTaned F QR g 87

How can the performance of a government employee be appraised? Discuss
360-degree performance appraisal method. How can the barriers in the
appraisal process be removed?

I U6 G qor (330 o do) % A F Ty wau F Wit Fraferes &t # geq ufEda
B 39 "l A A 29 § WA WEIEA W6 (THo ¥Ro WHo) &3 i slywrmd gt i
Torar=mn Fifor |

With the advent of Information and Communication Technology (ICT), there
has been a sea-change in all the functional areas of Management. In this
context, discuss the future challenges of Human Resource Management (HRM)
area in the next decade.

“quf foresdian et wahR ufterfeda @ S T gof Sesfienton)”’ o iforg) feessiiseon 1 Aoft
w1 I A TS 92! 6 e i)

“Absolute decentralization is as hypothetical as absolute centralization.”
Discuss. Explain the factors which affect the degree of decentralization.

‘g @1 a1 @ TR w1 wd Ot -fadia wen fsmon g 2177 @0 e wema #7 ot I g
HO G| ToRe E1eA T E TR ) 3E St AeITeR R SR €9 | S et S
a1 87

“It is said that an organization devoid of power and politics is lifeless.” Do you
agree? Give reasons for your answer. How can power and politics in an
organization be positively moulded for better performance?

eATHs feumea & wffda, Fa-ufafda @ el surm # = s Hifvm) o s f=r
T FH-91 IYPH HE9E 27 17

Distinguish among Classical, Neo-classical and Contingency approaches to
Organizational Design. Which approach in your opinion is the best? Why?

15

10

10

10

15

15

10
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4. (o) ‘‘ShoErie @e F fRa § sEhoeie @ wie #1758 wuR W feofi fifse) e ol @
TEYF ST A1 H S A g U gl wEm R w87
“Informal organizations are detrimental to the interest of formal organizations.”

Comment on this statement. In what ways can managers make most effective
use of informal organizations to their advantage? 15

(b) FHE e B AW F G &7 W R TR agEn 51w 87 36 el # el wreei
89 % 3HA (Fo o o) T IJTEW R
What do you understand by employee morale? How can it be boosted? In this
context, give example of a Public Sector Undertaking (PSU). 15

(c) ‘‘=afrea Fwe, AfETa qaRR ) e F@ ¥ R0 wEwa €7 3T I eg F0 e
A I e oft i)
“Personality factors influence individual behaviour.” Do you agree? Give
reasons for your answer and also give suitable examples. 10

(d) 3T & o wew % aiin Rrgra ¥, 5w dedl aon FEE] ) @oherar S gt
FA §7 I9GH e Wigq I IR H FHIA A

Do you think that there are universal principles of management that affect the
success of all organizations and managers? Support your answer with suitable
examples. 10

@Us—B / SECTION—B

5. Frafafad # 4 wos & @ 150 R A IR 9
Answer the following in about 150 words each : 10x5=50

(@) wheo Hif 75 Y gE @ GER aFAE (3o Ho o) I yrwler fFavm win T s
F9-SIaER 1 EEY 956 o ¥ I9g e Y HEEan § HA IN W wWe Hi)
Examine as to how Information and Communication Technology (ICT) has
transformed the traditional marketing processes and buyers’ purchase
behaviour. Justify your answer with the help of suitable illustrations.

(b) TR A A S G % qel = i e Rk i ase ® o
Ffl-eft wTE B w217 Ig SeTew wied 7@ awed 1 e Hife)
“Accounting ratios are mere mathematical relationships expressed between

interconnected accounting figures and at times may be misleading.” Elucidate
the statement with suitable examples.

(¢ AR T ¥ watia amEn au il h gdn § amen i) @iy sl woam
=ad T i 6 9 $H-3 8 T 87
Explain briefly the costs and benefits associated with holding inventory. What

are the considerations determining the maximum level and minimum level of
inventory?
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(d)

(e)

(b)

fc)

e qu uiww wra-fRuio (@) & 9. e s e w oft sare, ' Sw
wrra-fryfror faftrt wam € s 81

Distinguish between Job and Process costing. Also state the industries, where
the above costing methods are used.

‘diemr’ w@ ‘e wrifd # s fife) 37 fovm Rl B sugw sawe @ e fif,
N den FAm ‘e Wi e ¥ el % Fola @ wafaa wd )
Distinguish between ‘pull’ and ‘push’ strategies. Explain the marketing
situations with suitable illustrations that influence a marketer’s decision to
adopt ‘pull’ vs. ‘push’ strategy.

forva gu IaEA 3 21% @ oft aft @ & w1y wiva fova # gu 1 w9 w91 3RS ?) T
ff sraida aem § see fewm Tvw R i IRl # wwa % gy IRl & fan @
TARH € TF AT SR Y Fs1 TR Hif)

India is the largest producer of milk in the world accounting for over 21% share
in global milk production. However, its share in the international market
remains negligible. Prepare a comprehensive Market Research Plan to explore
potential for India’s dairy products in the international markets.

AW sEEE I ARfeT-fen wReewn R osen i W owRaet w1 o
sTeTEATH OE IR, S g TReeT ) 9T F 8

Explain the Modigliani-Miller hypothesis of dividend irrelevance. Also critically
examine the assumptions underlying the irrelevant hypothesis.

e e i = @ WA @ F; 3@ (fo e AFe o) ¥5,00,000 ) FWHH H FH T

12% 3fad @, K,; ® € 20,00,000 1 @@ F0 g1 §fwd $$ft A @, K, 18%

gt &

(i) SRR SAFTH H FE A §Y FH 1 F0AH ged Fuifa i

(i) & A g G, K, Faifa fif)

(ifi) ¥4 € 10,00,000 H $sht 1 Frim F@ F =R = @& ? @FF € 10,00,000 F F
F1 A fF o1 G% | F i arE s @ R oo B o § w9l weEs
w1 $fd S A qrE 16% @ g

1 AT TS HIH HI ITIET BN

Mohan Ltd. has earnings before interest and taxes (EBIT) of ¥ 5,00,000. The
firm currently has an outstanding debt of ¥ 20,00,000 at an average cost, K ; of
12%. Its cost of equity capital, K, is estimated to be 18%.

i Determine the current value of the firm using the traditional approach.

(ii) Determine the firm’s overall capitalization rate, K.

(iii) The firm is considering to issue the capital of ¥ 10,00,000 in order to
redeem ¥ 10,00,000 debt. The cost of debt is expected to be unaffected.
However, the firm’s cost of equity capital is to be reduced to 16% as a
result of decrease in leverage.

Would you recommend the proposed action?

15

15

20
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(b)

(c)

() 9, T, @R Ta T =i § ot Rfinfemo woaeem wwet = gea fwn e )
Tafirdierto 3eom A ¥ Afcss sfven wHiteEt 6t =zmen fifsm)

(i) ‘sve I @ Twe vEEE § e fifvm

(i) Creating differentiation even in commodities such as milk, water, edible

oil, etc., lead to creation of strong brands. Explain alternate branding
strategies employed to create such differentiation.

(i) Differentiate between ‘brand equity’ and ‘brand identity’.

§sht wftaf g wied (o wo dlo wio) w1 37 Tl uTy A=At F= €7 ¢S AW Y@
(¥to THo o) T Win{fd 9K T@T1 (THo THo Ueo) & 319 & =w H?

What is Capital Asset Pricing Model (CAPM)? What are its underlying
assumptions? How will you distinguish between Capital Market Line (CML) and
Security Market Line (SML)?

2 i gea fasea A ok B wH-g@® ¥ fe fm #) 9F wom amer A fafeen w
iR @ &, T w9 A € 1,250 e 9o € T 1 3AEl ¥ ThEAH e 99§
fapm B ge & A 3 9 T FHE i e R v BA A B o g R o wEe
Tarifepa & -

fazrar A fagkar B
faga ¥ 8,000 ¥ 4,500
fagbla axq & o T #1 50% s 1 50%
LEAd ¥ 2,250 ¥ 750
F1mq f=fafaa wH & s fvw -

(i) =men Fifse fF =91 faea A, e B3 @ T anems )

(i) T w6 Ao AR g 3 3w ¥ e B # e fase sigrn @,
IR B I 3f=sa afarer s & 350 ®?

Two competing retail vendors A and B are located adjacent to each other. Both
occupied buildings of the same size, paid the same rent, i.e., ¥ 1,250 and
charged similar prices for their products. Vendor A employed three times as
many employees as B and has twice as much income as B. Other data are as
follows :

Vendor A Vendor B
Sales ¥ 8,000 ¥ 4,500
Cost of Goods Sold 50% of sales 50% of sales
Wages ¥ 2,250 ¥ 750

You are required to answer the following questions :
(i) Explain why vendor A is twice as profitable as vendor B.

(i) By how much vendor B’s sales have to be increased in order to justify the
doubling of the number of employees at the same rate of pay, if B’s desired
operating income is ¥ 3507
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(d)

8. (a)

(b)

(c)

(d)

F el G % ed § I F F ww o e s 37 R o wf 9 ¥ A
1 HH F B B A el A1fen? F geaf 1 SR 0ed, @ qed § e 2R W o
ol wraft o g w9 w87

Is depreciation charged due to fluctuations in the value of fixed assets? Should
depreciation be provided even if the firm is in loss during the financial year? Do
firms charge depreciation on fixed assets, although the market value of the
assets is higher than its book value?

T W % UF3 TaTR a1 FY YA fmwil § s we A 7 fen ) fEr e
HE™ 87

Distinguish between Cash flow and Fund flow statements of a firm. What is the
significance of preparing these statements?

it srstten & st i T 1 F wew 27 90 Afme il i @, wwan i ) v @ w9
Bt B7 79 I g W1 TWE HfAw)
What is the significance of cost of capital in capital budgeting? Is the cost of

preference shares lower than the cost of equity shares? State reasons for your
answer.

o 4 1 fagsa € 20,00,000, iadTfie @F € 14,00,000, TR AR & 4,00,000 91
10% == $ & & ¥ 10,00,000 1 B | yu1eH, fada w@ @y foes i e it
oIS T WA @ dme (o o amgo Ao) FF T F wred R, 1 wliwa F U W
g et afig 1 s 2907

A firm has sales of ¥20,00,000, variable cost of & 14,00,000, fixed cost of
¥ 4,00,000 and debt of ¥10,00,000 at 10% rate of interest. Calculate the
operating, financial and combined leverages. If the firm wants to triple its
earnings before interest and tax (EBIT), how much of a rise in sales would be
needed on a percentage basis?

(i) TWTE 8 & w9 30 A ¥ v fawvm 1 off o wrifes 38w s R, < R abF
A wfnf & forg o1 s B1 3% Gt 1 wwa § wefera sfees faom srarrl ¥ wed
H whiaor Fife)

(ij) e Faavm =Eerl # fafh =0 Tl T S e T vada @ % ga §
e i |

(i) ‘Everything is fair in love and war’ and marketing is considered to be a
strategic war fought against competitors in a civilized manner. Examine

the above axiom with reference to prevalent unethical marketing practices
in India,

(i) Briefly evaluate the relevant legal framework and enforcement mechanism
to curb unethical marketing practices.

10

10

10

15

15

SDF-U-MGMT/9 7 20SB—288



g

-

o e S
b S N G TR A

o T e e e,

-1




